

[illegible]

[illegible]

$$\begin{aligned}
T1 &= -3 \pi, & T2 &= 6 \pi, & T3 &= 5 \pi, & T4 &= -8 \pi, & T5 &= \frac{29 \pi}{2}, & T6 &= \frac{31 \pi}{2}, & T7 &= -\frac{13 \pi}{2}, & T8 &= -\frac{23 \pi}{2} \\
T9 &= -\frac{28 \pi}{3}, & T10 &= -\frac{50 \pi}{3}, & T11 &= \frac{25 \pi}{3}, & T12 &= \frac{41 \pi}{3}, & T13 &= \frac{49 \pi}{4}, & T14 &= -\frac{37 \pi}{4}, & T15 &= -\frac{99 \pi}{4} \\
T16 &= \frac{63 \pi}{4}, & T17 &= \frac{143 \pi}{6}, & T18 &= \frac{109 \pi}{6}, & T19 &= -\frac{115 \pi}{6}, & T20 &= -\frac{125 \pi}{6} \\
T21 &= \text{Sin}(-16 \pi), & T22 &= \text{Cos}(5 \pi), & T23 &= \text{Sec}(-6 \pi), & T24 &= \text{Cot}(15 \pi), & T25 &= \text{Sin}\left(-\frac{29 \pi}{2}\right) \\
T26 &= \text{Cos}\left(\frac{21 \pi}{2}\right), & T27 &= \text{Cot}\left(\frac{35 \pi}{2}\right), & T28 &= \text{Sec}\left(-\frac{15 \pi}{2}\right), & T29 &= \text{Cos}\left(\frac{43 \pi}{3}\right), & T30 &= \text{Sin}\left(-\frac{35 \pi}{3}\right) \\
T31 &= \text{Csc}\left(-\frac{35 \pi}{3}\right), & T32 &= \text{Cot}\left(\frac{43 \pi}{3}\right), & T33 &= \text{Cos}\left(-\frac{67 \pi}{4}\right), & T34 &= \text{Sin}\left(\frac{33 \pi}{4}\right), & T35 &= \text{Sec}\left(-\frac{63 \pi}{4}\right) \\
T36 &= \text{Cot}\left(\frac{57 \pi}{4}\right), & T37 &= \text{Cos}\left(\frac{31 \pi}{6}\right), & T38 &= \text{Sin}\left(\frac{97 \pi}{6}\right), & T39 &= \text{Tan}\left(-\frac{83 \pi}{6}\right), & T40 &= \text{Sec}\left(\frac{91 \pi}{6}\right) \\
T41 &= \frac{1}{3} \sqrt{3} \text{Cot}\left(\frac{91 \pi}{6}\right) - \sqrt{2} \text{Sec}\left(-\frac{67 \pi}{4}\right) - 2 \sqrt{3} \text{Sin}\left(\frac{19 \pi}{3}\right) + 4 \sqrt{3} \text{Cos}\left(\frac{91 \pi}{6}\right) \\
T42 &= 10 \text{Sin}\left(-\frac{107 \pi}{6}\right) \sqrt{2} \text{Csc}\left(-\frac{67 \pi}{4}\right) - 3 \text{Cot}\left(-\frac{29 \pi}{3}\right) \text{Tan}\left(-\frac{29 \pi}{6}\right) \\
T43 &= 3 \text{Csc}\left(-\frac{53 \pi}{6}\right) - 3 \text{Tan}\left(-\frac{43 \pi}{4}\right) + 30 \text{Cos}\left(-\frac{29 \pi}{3}\right) \sqrt{3} \text{Cot}\left(-\frac{71 \pi}{6}\right) \\
T44 &= 5 \text{Sec}\left(\frac{40 \pi}{3}\right) - 27 \sqrt{2} \text{Cos}\left(\frac{29 \pi}{4}\right) \text{Cot}\left(-\frac{23 \pi}{3}\right) \text{Tan}\left(\frac{85 \pi}{6}\right)
\end{aligned}$$

[illegible]

[illegible]

[illegible]

[illegible]

[illegible]

[illegible]

[illegible]

$$T44 = 2\sqrt{3} \cos\left(-\frac{89\pi}{6}\right) - 3\sqrt{3} \tan\left(-\frac{41\pi}{3}\right) - 4 \cot\left(-\frac{43\pi}{4}\right) + 4 \csc\left(\frac{31\pi}{6}\right)$$

[illegible]

[illegible]

$$\begin{aligned}
T1 &= -5 \pi, & T2 &= 10 \pi, & T3 &= 3 \pi, & T4 &= -4 \pi, & T5 &= \frac{17 \pi}{2}, & T6 &= -\frac{21 \pi}{2}, & T7 &= -\frac{7 \pi}{2}, & T8 &= \frac{27 \pi}{2} \\
T9 &= -\frac{46 \pi}{3}, & T10 &= \frac{7 \pi}{3}, & T11 &= \frac{35 \pi}{3}, & T12 &= -\frac{20 \pi}{3}, & T13 &= -\frac{83 \pi}{4}, & T14 &= \frac{65 \pi}{4}, & T15 &= -\frac{77 \pi}{4} \\
T16 &= \frac{55 \pi}{4}, & T17 &= \frac{109 \pi}{6}, & T18 &= \frac{95 \pi}{6}, & T19 &= -\frac{115 \pi}{6}, & T20 &= -\frac{149 \pi}{6} \\
T21 &= \text{Sin}(16 \pi), & T22 &= \text{Cos}(-12 \pi), & T23 &= \text{Csc}(6 \pi), & T24 &= \text{Tan}(15 \pi), & T25 &= \text{Cos}\left(-\frac{31 \pi}{2}\right) \\
T26 &= \text{Sin}\left(-\frac{15 \pi}{2}\right), & T27 &= \text{Csc}\left(-\frac{27 \pi}{2}\right), & T28 &= \text{Cot}\left(-\frac{9 \pi}{2}\right), & T29 &= \text{Sin}\left(\frac{37 \pi}{3}\right), & T30 &= \text{Cos}\left(-\frac{38 \pi}{3}\right) \\
T31 &= \text{Sec}\left(-\frac{44 \pi}{3}\right), & T32 &= \text{Cot}\left(-\frac{23 \pi}{3}\right), & T33 &= \text{Sin}\left(-\frac{59 \pi}{4}\right), & T34 &= \text{Cos}\left(-\frac{51 \pi}{4}\right), & T35 &= \text{Tan}\left(-\frac{43 \pi}{4}\right) \\
T36 &= \text{Sec}\left(-\frac{27 \pi}{4}\right), & T37 &= \text{Sin}\left(\frac{91 \pi}{6}\right), & T38 &= \text{Cos}\left(-\frac{71 \pi}{6}\right), & T39 &= \text{Sec}\left(\frac{91 \pi}{6}\right), & T40 &= \text{Tan}\left(-\frac{95 \pi}{6}\right) \\
T41 &= 9 \text{Csc}\left(-\frac{32 \pi}{3}\right) \text{Cot}\left(-\frac{83 \pi}{6}\right) - 2 \sqrt{2} \text{Sin}\left(\frac{53 \pi}{4}\right) \text{Sec}\left(\frac{25 \pi}{3}\right) \\
T42 &= 4 \text{Csc}\left(-\frac{41 \pi}{6}\right) - 2 \text{Sec}\left(\frac{16 \pi}{3}\right) + 2 \sqrt{2} \text{Sin}\left(\frac{53 \pi}{4}\right) \sqrt{3} \text{Cot}\left(\frac{97 \pi}{6}\right) \\
T43 &= 2 \text{Sec}\left(-\frac{32 \pi}{3}\right) - 54 \text{Tan}\left(\frac{31 \pi}{6}\right) \text{Sin}\left(\frac{19 \pi}{3}\right) \text{Cot}\left(-\frac{47 \pi}{4}\right) \\
T44 &= 6 \sqrt{3} \text{Cot}\left(\frac{19 \pi}{3}\right) - 2 \text{Tan}\left(\frac{41 \pi}{4}\right) - 10 \text{Sin}\left(\frac{97 \pi}{6}\right) + 10 \text{Cos}\left(-\frac{38 \pi}{3}\right)
\end{aligned}$$

[illegible]

$$T44 = 2 \operatorname{Sec}\left(-\frac{50 \pi}{3}\right) \operatorname{Cot}\left(\frac{65 \pi}{4}\right) - \frac{2}{3} \operatorname{Csc}\left(-\frac{59 \pi}{6}\right) \sqrt{3} \operatorname{Sin}\left(-\frac{35 \pi}{3}\right)$$

X Math@MUT XX5/1-6800301-00013XX
TrigonometryExercise for ID 10596

$$T1 = -16 \pi, \quad T2 = -15 \pi, \quad T3 = 13 \pi, \quad T4 = 14 \pi, \quad T5 = -\frac{25 \pi}{2}, \quad T6 = -\frac{11 \pi}{2}, \quad T7 = \frac{17 \pi}{2}, \quad T8 = \frac{27 \pi}{2}$$

$$T9 = \frac{35\pi}{3}, \quad T10 = \frac{43\pi}{3}, \quad T11 = -\frac{44\pi}{3}, \quad T12 = -\frac{16\pi}{3}, \quad T13 = -\frac{69\pi}{4}, \quad T14 = \frac{57\pi}{4}, \quad T15 = \frac{63\pi}{4}$$

$$T16 = -\frac{75\pi}{4}, \quad T17 = -\frac{55\pi}{6}, \quad T18 = \frac{109\pi}{6}, \quad T19 = -\frac{137\pi}{6}, \quad T20 = \frac{107\pi}{6}$$

$$T21 = \text{Sin}(9 \pi), \quad T22 = \text{Cos}(10 \pi), \quad T23 = \text{Csc}(-16 \pi), \quad T24 = \text{Tan}(14 \pi), \quad T25 = \text{Sin}\left(\frac{11 \pi}{2}\right)$$

$$T26 = \cos\left(-\frac{17\pi}{2}\right), \quad T27 = \tan\left(-\frac{27\pi}{2}\right), \quad T28 = \sec\left(\frac{25\pi}{2}\right), \quad T29 = \sin\left(\frac{19\pi}{3}\right), \quad T30 = \cos\left(-\frac{38\pi}{3}\right)$$

$$T31 = \text{Csc}\left(-\frac{14 \pi}{3}\right), \quad T32 = \text{Sec}\left(\frac{25 \pi}{3}\right), \quad T33 = \text{Cos}\left(-\frac{43 \pi}{4}\right), \quad T34 = \text{Sin}\left(\frac{41 \pi}{4}\right), \quad T35 = \text{Sec}\left(-\frac{31 \pi}{4}\right)$$

$$T36 = \text{Cot}\left(\frac{37 \pi}{4}\right), \quad T37 = \text{Cos}\left(\frac{43 \pi}{6}\right), \quad T38 = \text{Sin}\left(\frac{67 \pi}{6}\right), \quad T39 = \text{Cot}\left(-\frac{47 \pi}{6}\right), \quad T40 = \text{Tan}\left(-\frac{77 \pi}{6}\right)$$

$$T4I = 9\sqrt{3} \tan\left(-\frac{95\pi}{6}\right) - 2\sqrt{3} \csc\left(-\frac{17\pi}{3}\right) - 2\sqrt{2} \sec\left(\frac{69\pi}{4}\right) + 2\sin\left(\frac{73\pi}{6}\right)$$

$$T42 = 2\sqrt{3} \tan\left(-\frac{101\pi}{6}\right) - 9\sqrt{3} \csc\left(\frac{22\pi}{3}\right) + 3 \cot\left(-\frac{63\pi}{4}\right) \sqrt{3} \sec\left(-\frac{35\pi}{6}\right)$$

$$T43 = 4 \operatorname{Csc}\left(-\frac{29 \pi}{6}\right) - 108 \operatorname{Cot}\left(\frac{65 \pi}{4}\right) \operatorname{Cos}\left(-\frac{29 \pi}{6}\right) \operatorname{Tan}\left(\frac{37 \pi}{3}\right)$$

$$T44 = 3 \sqrt{3} \cot\left(\frac{79 \pi}{6}\right) \sqrt{2} \cos\left(-\frac{19 \pi}{4}\right) - 9 \sec\left(\frac{22 \pi}{3}\right) \csc\left(\frac{85 \pi}{6}\right)$$

[illegible]

[illegible]

$$T44 = 3\sqrt{3} \operatorname{Sec}\left(\frac{97\pi}{6}\right) - \frac{8}{3}\sqrt{2} \operatorname{Csc}\left(\frac{45\pi}{4}\right)\sqrt{3} \operatorname{Cot}\left(\frac{91\pi}{6}\right) \operatorname{Cos}\left(\frac{19\pi}{3}\right)$$

X Math@MUT XX5/1-6800301-00016XX
TrigonometryExercise for ID 11423

$$T1 = -15 \pi, \quad T2 = -4 \pi, \quad T3 = 11 \pi, \quad T4 = 8 \pi, \quad T5 = \frac{25 \pi}{2}, \quad T6 = \frac{23 \pi}{2}, \quad T7 = -\frac{31 \pi}{2}, \quad T8 = -\frac{13 \pi}{2}$$

$$T9 = \frac{35\pi}{3}, \quad T10 = -\frac{50\pi}{3}, \quad T11 = \frac{31\pi}{3}, \quad T12 = -\frac{10\pi}{3}, \quad T13 = -\frac{45\pi}{4}, \quad T14 = -\frac{91\pi}{4}, \quad T15 = \frac{89\pi}{4}$$

$$T16 = \frac{95 \pi}{4}, \quad T17 = -\frac{67 \pi}{6}, \quad T18 = \frac{121 \pi}{6}, \quad T19 = -\frac{89 \pi}{6}, \quad T20 = \frac{107 \pi}{6}$$

$$T21 = \text{Sin}(-10 \pi), \quad T22 = \text{Cos}(-5 \pi), \quad T23 = \text{Cot}(-6 \pi), \quad T24 = \text{Tan}(13 \pi), \quad T25 = \text{Cos}\left(-\frac{27 \pi}{2}\right)$$

$$T26 = \sin\left(\frac{25\pi}{2}\right), \quad T27 = \cot\left(-\frac{17\pi}{2}\right), \quad T28 = \csc\left(-\frac{9\pi}{2}\right), \quad T29 = \cos\left(-\frac{32\pi}{3}\right), \quad T30 = \sin\left(-\frac{20\pi}{3}\right)$$

$$T31 = \text{Tan}\left(\frac{31 \pi}{3}\right), \quad T32 = \text{Cot}\left(\frac{25 \pi}{3}\right), \quad T33 = \text{Cos}\left(\frac{61 \pi}{4}\right), \quad T34 = \text{Sin}\left(\frac{25 \pi}{4}\right), \quad T35 = \text{Tan}\left(-\frac{27 \pi}{4}\right)$$

$$T36 = \text{Csc}\left(-\frac{67 \pi}{4}\right), \quad T37 = \text{Cos}\left(\frac{31 \pi}{6}\right), \quad T38 = \text{Sin}\left(-\frac{77 \pi}{6}\right), \quad T39 = \text{Csc}\left(\frac{97 \pi}{6}\right), \quad T40 = \text{Tan}\left(\frac{31 \pi}{6}\right)$$

$$T4I = 2\sqrt{2} \cos\left(\frac{45\pi}{4}\right) - 3\sqrt{3} \cot\left(-\frac{29\pi}{3}\right) - 4 \csc\left(\frac{31\pi}{6}\right) + \frac{1}{2}\sqrt{2} \sec\left(-\frac{47\pi}{4}\right)$$

$$T42 = 18 \sqrt{3} \cot\left(\frac{25 \pi}{3}\right) \csc\left(-\frac{41 \pi}{6}\right) - 30 \sqrt{2} \sin\left(-\frac{31 \pi}{4}\right) \cos\left(\frac{16 \pi}{3}\right)$$

$$T43 = 3 \sqrt{3} \operatorname{Cot}\left(\frac{37 \pi}{3}\right) - 6 \operatorname{Sin}\left(-\frac{53 \pi}{6}\right) \sqrt{3} \operatorname{Csc}\left(-\frac{32 \pi}{3}\right) \sqrt{2} \operatorname{Sec}\left(-\frac{55 \pi}{4}\right)$$

$$T44 = \sqrt{2} \sin\left(-\frac{23\pi}{4}\right) - 2\sqrt{3} \cot\left(\frac{43\pi}{3}\right) + 12\sqrt{3} \cos\left(\frac{61\pi}{6}\right) \tan\left(-\frac{67\pi}{4}\right)$$

[illegible]

[illegible]

X Math@MUT XX5/1-6800301-00019XX
TrigonometryExercise for ID 11863

$$T1 = 9 \pi, \quad T2 = -10 \pi, \quad T3 = 6 \pi, \quad T4 = -11 \pi, \quad T5 = -\frac{33 \pi}{2}, \quad T6 = \frac{19 \pi}{2}, \quad T7 = \frac{9 \pi}{2}, \quad T8 = -\frac{27 \pi}{2}$$

$$T9 = -\frac{32\pi}{3}, \quad T10 = \frac{43\pi}{3}, \quad T11 = \frac{47\pi}{3}, \quad T12 = -\frac{46\pi}{3}, \quad T13 = \frac{81\pi}{4}, \quad T14 = -\frac{59\pi}{4}, \quad T15 = \frac{87\pi}{4}$$

$$T16 = -\frac{53\pi}{4}, \quad T17 = -\frac{139\pi}{6}, \quad T18 = \frac{133\pi}{6}, \quad T19 = \frac{119\pi}{6}, \quad T20 = -\frac{101\pi}{6}$$

$$T21 = \text{Sin}(-11 \pi), \quad T22 = \text{Cos}(14 \pi), \quad T23 = \text{Tan}(-7 \pi), \quad T24 = \text{Csc}(-9 \pi), \quad T25 = \text{Sin}\left(\frac{17 \pi}{2}\right)$$

$$T26 = \cos\left(\frac{13\pi}{2}\right), \quad T27 = \sec\left(\frac{19\pi}{2}\right), \quad T28 = \cot\left(\frac{21\pi}{2}\right), \quad T29 = \cos\left(\frac{46\pi}{3}\right), \quad T30 = \sin\left(\frac{16\pi}{3}\right)$$

$$T31 = \text{Sec}\left(\frac{49 \pi}{3}\right), \quad T32 = \text{Csc}\left(-\frac{50 \pi}{3}\right), \quad T33 = \text{Cos}\left(-\frac{39 \pi}{4}\right), \quad T34 = \text{Sin}\left(\frac{29 \pi}{4}\right), \quad T35 = \text{Tan}\left(-\frac{19 \pi}{4}\right)$$

$$T36 = \text{Csc}\left(\frac{37 \pi}{4}\right), \quad T37 = \text{Sin}\left(-\frac{83 \pi}{6}\right), \quad T38 = \text{Cos}\left(-\frac{95 \pi}{6}\right), \quad T39 = \text{Tan}\left(-\frac{29 \pi}{6}\right), \quad T40 = \text{Sec}\left(\frac{85 \pi}{6}\right)$$

$$T4I = 4 \tan\left(\frac{49 \pi}{4}\right) - 6 \sqrt{3} \cos\left(\frac{91 \pi}{6}\right) + 2 \sqrt{3} \csc\left(\frac{40 \pi}{3}\right) \cot\left(\frac{49 \pi}{4}\right)$$

$$T42 = \frac{2}{3} \sqrt{3} \sin\left(\frac{16\pi}{3}\right) - 2 \csc\left(-\frac{77\pi}{6}\right) - 2\sqrt{2} \sec\left(\frac{69\pi}{4}\right) + 10 \cos\left(-\frac{20\pi}{3}\right)$$

$$T43 = 2 \sqrt{3} \cos\left(-\frac{53 \pi}{6}\right) - 24 \tan\left(-\frac{55 \pi}{4}\right) \sec\left(\frac{49 \pi}{6}\right) \sin\left(\frac{49 \pi}{3}\right)$$

$$T44 = 81 \cot\left(-\frac{20\pi}{3}\right) \tan\left(-\frac{53\pi}{6}\right) - 18\sqrt{2} \sin\left(\frac{53\pi}{4}\right) \sqrt{3} \csc\left(-\frac{41\pi}{3}\right)$$

[illegible]

[illegible]

[illegible]

[illegible]

[illegible]

[illegible]

X Math@MUT XX5/1-6800301-00026XX
TrigonometryExercise for ID 13581

$$T1 = 3 \pi, \quad T2 = -7 \pi, \quad T3 = -6 \pi, \quad T4 = 12 \pi, \quad T5 = \frac{19 \pi}{2}, \quad T6 = \frac{21 \pi}{2}, \quad T7 = -\frac{29 \pi}{2}, \quad T8 = -\frac{23 \pi}{2}$$

$$T9 = -\frac{56\pi}{3}, \quad T10 = -\frac{34\pi}{3}, \quad T11 = \frac{47\pi}{3}, \quad T12 = \frac{19\pi}{3}, \quad T13 = -\frac{37\pi}{4}, \quad T14 = \frac{65\pi}{4}, \quad T15 = -\frac{83\pi}{4}$$

$$T16 = \frac{55\pi}{4}, \quad T17 = -\frac{55\pi}{6}, \quad T18 = \frac{107\pi}{6}, \quad T19 = \frac{109\pi}{6}, \quad T20 = -\frac{149\pi}{6}$$

$$T21 = \text{Sin}(14 \pi), \quad T22 = \text{Cos}(12 \pi), \quad T23 = \text{Sec}(9 \pi), \quad T24 = \text{Tan}(10 \pi), \quad T25 = \text{Sin}\left(\frac{31 \pi}{2}\right)$$

$$T26 = \cos\left(\frac{29\pi}{2}\right), \quad T27 = \sec\left(-\frac{23\pi}{2}\right), \quad T28 = \cot\left(\frac{35\pi}{2}\right), \quad T29 = \sin\left(-\frac{20\pi}{3}\right), \quad T30 = \cos\left(-\frac{14\pi}{3}\right)$$

$$T31 = \tan\left(-\frac{26\pi}{3}\right), \quad T32 = \cot\left(\frac{43\pi}{3}\right), \quad T33 = \cos\left(\frac{41\pi}{4}\right), \quad T34 = \sin\left(\frac{25\pi}{4}\right), \quad T35 = \csc\left(-\frac{59\pi}{4}\right)$$

$$T36 = \text{Sec}\left(\frac{33 \pi}{4}\right), \quad T37 = \text{Sin}\left(-\frac{53 \pi}{6}\right), \quad T38 = \text{Cos}\left(\frac{73 \pi}{6}\right), \quad T39 = \text{Csc}\left(\frac{49 \pi}{6}\right), \quad T40 = \text{Cot}\left(-\frac{41 \pi}{6}\right)$$

$$T4I = 6\sqrt{2} \sin\left(-\frac{39\pi}{4}\right) \sec\left(\frac{34\pi}{3}\right) - 3\sqrt{3} \cot\left(-\frac{71\pi}{6}\right) \sqrt{2} \cos\left(\frac{33\pi}{4}\right)$$

$$T42 = 4 \tan\left(-\frac{67\pi}{4}\right) - 9\sqrt{3} \cot\left(-\frac{47\pi}{3}\right) - 6\sqrt{3} \sec\left(-\frac{77\pi}{6}\right) + 2\sqrt{2} \sin\left(-\frac{35\pi}{4}\right)$$

$$T43 = 4 \operatorname{Csc}\left(-\frac{95 \pi}{6}\right) - 2 \operatorname{Sec}\left(-\frac{20 \pi}{3}\right) + 8 \operatorname{Tan}\left(\frac{65 \pi}{4}\right) \sqrt{3} \operatorname{Cos}\left(\frac{37 \pi}{6}\right)$$

$$T44 = \frac{3}{2} \sqrt{2} \operatorname{Sec}\left(\frac{57 \pi}{4}\right) - 18 \sqrt{3} \operatorname{Cot}\left(-\frac{50 \pi}{3}\right) \sqrt{2} \operatorname{Cos}\left(\frac{29 \pi}{4}\right) \operatorname{Sin}\left(\frac{31 \pi}{6}\right)$$

[illegible]

[illegible]

[illegible]

[illegible]

[illegible]

[illegible]

[illegible]

[illegible]

[illegible]

[illegible]

[illegible]

[illegible]

[illegible]

[illegible]

X Math@MUT XX M5/1-6800301-00041XX
TrigonometryExercise for ID 15024

$$T1 = 15 \pi, \quad T2 = -4 \pi, \quad T3 = 2 \pi, \quad T4 = -3 \pi, \quad T5 = \frac{15 \pi}{2}, \quad T6 = \frac{29 \pi}{2}, \quad T7 = -\frac{25 \pi}{2}, \quad T8 = -\frac{31 \pi}{2}$$

$$T9 = \frac{47\pi}{3}, \quad T10 = -\frac{32\pi}{3}, \quad T11 = \frac{19\pi}{3}, \quad T12 = -\frac{46\pi}{3}, \quad T13 = \frac{63\pi}{4}, \quad T14 = \frac{49\pi}{4}, \quad T15 = -\frac{75\pi}{4}$$

$$T16 = -\frac{69\pi}{4}, \quad T17 = \frac{61\pi}{6}, \quad T18 = -\frac{101\pi}{6}, \quad T19 = \frac{83\pi}{6}, \quad T20 = -\frac{103\pi}{6}$$

$$T21 = \text{Cos}(15 \pi), \quad T22 = \text{Sin}(-5 \pi), \quad T23 = \text{Cot}(5 \pi), \quad T24 = \text{Csc}(-17 \pi), \quad T25 = \text{Sin}\left(-\frac{27 \pi}{2}\right)$$

$$T26 = \text{Cos}\left(\frac{31 \pi}{2}\right), \quad T27 = \text{Csc}\left(-\frac{31 \pi}{2}\right), \quad T28 = \text{Cot}\left(\frac{35 \pi}{2}\right), \quad T29 = \text{Cos}\left(-\frac{44 \pi}{3}\right), \quad T30 = \text{Sin}\left(-\frac{29 \pi}{3}\right)$$

$$T31 = \text{Sec}\left(-\frac{20\pi}{3}\right), \quad T32 = \text{Cot}\left(-\frac{26\pi}{3}\right), \quad T33 = \text{Cos}\left(\frac{21\pi}{4}\right), \quad T34 = \text{Sin}\left(\frac{65\pi}{4}\right), \quad T35 = \text{Cot}\left(\frac{65\pi}{4}\right)$$

$$T36 = \text{Csc}\left(-\frac{39 \pi}{4}\right), \quad T37 = \text{Sin}\left(\frac{97 \pi}{6}\right), \quad T38 = \text{Cos}\left(\frac{55 \pi}{6}\right), \quad T39 = \text{Sec}\left(-\frac{71 \pi}{6}\right), \quad T40 = \text{Cot}\left(\frac{79 \pi}{6}\right)$$

$$T4I = 10 \cos\left(-\frac{14\pi}{3}\right) - 4\sqrt{2} \sin\left(-\frac{39\pi}{4}\right) + 9 \tan\left(\frac{85\pi}{6}\right) \cot\left(-\frac{38\pi}{3}\right)$$

$$T42 = 54 \operatorname{Csc}\left(\frac{49 \pi}{3}\right) \operatorname{Sec}\left(-\frac{59 \pi}{6}\right) - 8 \sqrt{2} \operatorname{Cos}\left(\frac{69 \pi}{4}\right) \sqrt{3} \operatorname{Cot}\left(\frac{28 \pi}{3}\right)$$

$$T43 = 9\sqrt{3} \operatorname{Sec}\left(-\frac{95\pi}{6}\right) - \frac{2}{3}\sqrt{3} \operatorname{Tan}\left(-\frac{50\pi}{3}\right) - 3\sqrt{2} \operatorname{Cos}\left(-\frac{63\pi}{4}\right) + 8\operatorname{Sin}\left(\frac{91\pi}{6}\right)$$

$$T44 = 2\sqrt{3} \operatorname{Csc}\left(\frac{37\pi}{3}\right) - 96 \operatorname{Tan}\left(-\frac{31\pi}{4}\right) \operatorname{Sec}\left(\frac{49\pi}{3}\right) \operatorname{Sin}\left(-\frac{47\pi}{6}\right)$$

[illegible]

$$T44 = 54 \sin\left(\frac{43 \pi}{3}\right) \sec\left(-\frac{77 \pi}{6}\right) - 3 \tan\left(-\frac{51 \pi}{4}\right) \sqrt{3} \cot\left(\frac{19 \pi}{3}\right)$$

[illegible]